
moutyteaupuuk-f.FM DEI ¥ '

inane'T
- - -

•You choose one at random initially (A)
• Monty opens a diff door (B ) without

atrandom Cituany)

• Do you stick to
initial door CAH , or switch to the

other door (c) ?

intuition : why would e se une likely than A ? A
→ Ks chance

• Monty does not give info on doorA. But
it does Cau pl) C→ 43 chance
-c
RN R= door with the treasure (NCR) =L AB ,

C 3 initially uniform)
M = door that Monty opens : not

the one picked , not the one withtreasure

say mitral pick
is FAI ⇒ RCM) I {B, c} . OBSERVEM=Bpcr=Alfieri) = roar

- pcmetigcfoiss.at, T -HD
P ( R-BIM-B) =¥7.ME#Tyzlk
O as Monty never opens p¥

=

-112 ez 0
the door with treasure⇐ reinas = t÷÷fkiYz=Eg

t- P =AIM=D
⇒ better to switch to door C

, prob
treasure =3



Pfm-B) =P(M=BlR=A)PCReA7t 112-113

1- p(M=B/R=B)nPCR=B) o

+p(M=cfR=c) - P( Re) n - 43
-6+43=1/2


